Y Motor Bracket (easy kit) Guide ID: 245 - Draft: 2018-10-03

©
IMADE

Y Motor Bracket (easy Kit)

This document was generated on 2021-12-23 03:11:58 PM (MST).
© 2021 docs.imade3d.com/ Page 1 of 10



Y Motor Bracket (easy kit)

INTRODUCTION

Not the guide you are looking for?

Go back to the = Easy Kit Build Flow.

TOOLS:
2.5mm Hex Key (1)

This document was generated on 2021-12-23 03:11:58 PM (MST).

© 2021

docs.imade3d.com/

Guide ID: 245 - Draft: 2018-10-03

PARTS:

M3x12 Socket Head Screw (4)
M3 Serrated Washer (4)

Y Bracket (1)

Page 2 of 10


https://docs.imade3d.com/Wiki/Easy_Kit_Flow_JB2
file:///Item/2.5mm_Hex_Key
file:///Item/M3x12_Socket_Head_Screw
file:///Item/M3_Serrated_Washer
file:///Item/Y_Bracket

Y Motor Bracket (easy kit) Guide ID: 245 - Draft: 2018-10-03

Step 1 — L Install the Y Motor

M3 ‘nylock’ M3 oversized M3 serrated socket head screw M3 plastite
locking IV{LS’!L’?"” . washer S8 MZX].Z serew
nut - [ g\
Q A7 _—
‘ G
lat head screw screw socker head screw socket head serew
M3x8 M * x25 M3x10 M3x12
! [t
120m

M3x16 M3x25 M3x30 M q* 0

idlers =, Y-assembly Sfeeder electronics
) T it ‘doghone hot :
spare

P~ (&—\ - ) ;‘&: L I Rt stand-offs {07 il

D> 8

o M3x12

This document was generated on 2021-12-23 03:11:58 PM (MST).
© 2021 docs.imade3d.com/ Page 3 of 10



Y Motor Bracket (easy kit) Guide ID: 245 - Draft: 2018-10-03

Step 2

This document was generated on 2021-12-23 03:11:58 PM (MST).
© 2021 docs.imade3d.com/ Page 4 of 10



Y Motor Bracket (easy kit) Guide ID: 245 - Draft: 2018-10-03

Step 3

,

R .

-y motor bracket

This document was generated on 2021-12-23 03:11:58 PM (MST).
© 2021 docs.imade3d.com/ Page 5 of 10



Y Motor Bracket (easy kit)

Guide ID: 245 - Draft: 2018-10-03

Step 4

(i ks085 ON 107
1 -BESHEPAT
EIE]

_ joW HIdd:

This document was generated on 2021-12-23 03:11:58 PM (MST).
© 2021

docs.imade3d.com/

Page 6 of 10



Y Motor Bracket (easy kit) Guide ID: 245 - Draft: 2018-10-03

Step 5

Fretetttesesteanay

WIXIS
|t

1
|
|

~1_fbed o

Step 6

This document was generated on 2021-12-23 03:11:58 PM (MST).
© 2021 docs.imade3d.com/ Page 7 of 10



Y Motor Bracket (easy kit) Guide ID: 245 - Draft: 2018-10-03

Step 7

When tightening against plastic (frame, printed
parts...), always hold the short side of the hex
key to avoid over-tightening and damaging the
part.

Step 8 — - Technique: Cross-Tightening

Avoid alignment issues by tightening the
screws little by little in a diagonal pattern.

@ This is called "cross-tightening", and you
should do it every time* you have more than
one screw to tighten.

@ *even when you're not building a JellyBOX

This document was generated on 2021-12-23 03:11:58 PM (MST).

© 2021 docs.imade3d.com/ Page 8 of 10



Y Motor Bracket (easy kit) Guide ID: 245 - Draft: 2018-10-03

Step 9 — p Video: Cross-Tightening (20s)

@ » Video: Cross-Tightening (20s)

Step 10 — It's done!

e Ihe Y motor bracket is assembled. All the naysayers shall be silent now. You are doing this.

This document was generated on 2021-12-23 03:11:58 PM (MST).
© 2021 docs.imade3d.com/ Page 9 of 10



Y Motor Bracket (easy kit) Guide ID: 245 - Draft: 2018-10-03

What's Next?

Get back to the & Easy Kit Build Flowand continue with the next guide.

This document was generated on 2021-12-23 03:11:58 PM (MST).
© 2021 docs.imade3d.com/ Page 10 of 10


file:///Wiki/Easy_Kit_Flow_JB2

	Y Motor Bracket (easy kit)
	INTRODUCTION

	TOOLS:
	PARTS:
	Step 1 — ↳ Install the Y Motor
	Step 2
	Step 3
	Step 4
	Step 5
	Step 6
	Step 7
	Step 8 — ✁ Technique: Cross-Tightening
	Step 9 — ▶ Video: Cross-Tightening (20s)
	Step 10 — It's done!

	What's Next?

